Algebra Mid-Term Review (2013-2014)

Multiple Choice
Identify the choice that best completes the statement or answers the question.

____	1.	A computer manufacturing company inspects 350 LCD screens and finds that 14 have defects. What is the best estimate for the number of defective screens in their daily production of 2000 LCD screens?
	a.
	80
	c.
	160

	b.
	3
	d.
	66




____	2.	Identify the set of numbers that best describes the following situation.
the value of coins in a piggy bank

	a.
	rational numbers
	c.
	whole numbers

	b.
	integers
	d.
	irrational numbers




____	3.	Identify the constant term in the following expression: [image: ].
	a.
	6
	c.
	[image: ]

	b.
	7
	d.
	[image: ]




____	4.	Simplify [image: ].
	a.
	[image: ]
	c.
	[image: ]

	b.
	[image: ]
	d.
	[image: ]




____	5.	This week Sally withdrew $35 from her bank account and deposited $80 into her bank account. Overall, how much did she add to her bank account this week?
	a.
	$45
	c.
	$55

	b.
	$115
	d.
	$35




____	6.	[image: ] equals
	a.
	[image: ]
	d.
	[image: ]

	b.
	[image: ]
	e.
	None correct

	c.
	[image: ]




____	7.	Simplify [image: ].
	a.
	100
	c.
	283

	b.
	164
	d.
	–4




____	8.	Evaluate [image: ].
	a.
	201
	c.
	64

	b.
	207
	d.
	–135




____	9.	A door is 6 feet wide and 8 feet tall. What is the area of the door in square inches?
	a.
	6912 square inches
	c.
	6912 square feet

	b.
	48 square feet
	d.
	576 square inches




____	10.	Evaluate the expression for [image: ] and [image: ].
[image: ]
	a.
	–37
	c.
	3

	b.
	–82
	d.
	–12




____	11.	Simplify –[image: ].
	a.
	0
	c.
	–9

	b.
	–27
	d.
	27




____	12.	Estimate [image: ] to the nearest integer. Use a calculator to check your answer. 
	a.
	7
	c.
	22

	b.
	6
	d.
	1936




____	13.	Simplify [image: ].
	a.
	[image: ]
	c.
	[image: ]

	b.
	[image: ]
	d.
	[image: ]




____	14.	Evaluate [image: ].
	a.
	[image: ]
	c.
	[image: ]

	b.
	[image: ]
	d.
	[image: ]




____	15.	Which equation demonstrates the Identity Property of Multiplication?
	a.
	[image: ]
	c.
	[image: ]

	b.
	[image: ]
	d.
	[image: ]




____	16.	If a number cube labeled 1–6 is rolled, what is the probability that the roll will produce a number less than 5?
	a.
	[image: ]
	c.
	[image: ]

	b.
	[image: ]
	d.
	[image: ]




____	17.	Simplify [image: ].
	a.
	[image: ]
	c.
	[image: ]

	b.
	[image: ]
	d.
	[image: ]




____	18.	If [image: ] and [image: ], then [image: ] equals
	a.
	–3
	d.
	1

	b.
	3
	e.
	None correct

	c.
	–1




____	19.	Joe gets paid $9 per hour. Write the amount of money d he has after working for h hours.
	a.
	[image: ]
	c.
	[image: ]

	b.
	[image: ]
	d.
	[image: ]




____	20.	Express the perimeter of the following rectangle in terms of n.
[image: ]
	a.
	[image: ]
	c.
	[image: ]

	b.
	[image: ]
	d.
	[image: ]




____	21.	Which ordered pair is located in the third quadrant of a coordinate plane?
	a.
	[image: ]
	c.
	[image: ]

	b.
	[image: ]
	d.
	[image: ]




____	22.	On the evening news, viewers are invited to call in and vote for the candidate they think will win the election. What sampling method is used?
	a.
	voluntary
	c.
	convenience

	b.
	simple
	d.
	stratified




____	23.	Solve [image: ]
	a.
	z = 72
	c.
	z = –72

	b.
	z = 2
	d.
	z = –2




____	24.	0.41 of 32 is what number?
	a.
	13.12
	c.
	45.12

	b.
	78.05
	d.
	12.00




____	25.	Nora buys a case of 75 tea bags for her family. They use 5 bags a day. Which function rule can she use to find the number of tea bags remaining on any given day?
	a.
	[image: ]
	d.
	[image: ]

	b.
	[image: ]
	e.
	None correct

	c.
	[image: ]




____	26.	Solve [image: ].
	a.
	[image: ]
	c.
	[image: ]

	b.
	[image: ]
	d.
	[image: ]




____	27.	Solve for p: [image: ].
	a.
	[image: ]
	c.
	[image: ]

	b.
	[image: ]
	d.
	[image: ]




____	28.	Simplify [image: ].
	a.
	[image: ]
	c.
	[image: ]

	b.
	[image: ]
	d.
	[image: ]




____	29.	Find the ninth term of the sequence 3, 8, 13, 18, . . . .
	a.
	43
	d.
	38

	b.
	53
	e.
	None correct

	c.
	48




____	30.	Multiply [image: ]. What is the product in scientific notation?
	a.
	[image: ]
	c.
	[image: ]

	b.
	[image: ]
	d.
	[image: ]




____	31.	Find the greatest common factor of [image: ].
	a.
	[image: ]
	c.
	[image: ]

	b.
	[image: ]
	d.
	[image: ]




____	32.	Simplify [image: ].
	a.
	[image: ]
	c.
	[image: ]

	b.
	[image: ]
	d.
	[image: ]




____	33.	Simplify [image: ].
	a.
	[image: ]
	c.
	[image: ]

	b.
	[image: ]
	d.
	[image: ]




____	34.	The Anderson family is preparing for a family reunion. They think they will need 12 juice boxes for every 4 children who attend. How many juice boxes will they need if they are expecting 20 children?
	a.
	60 juice boxes
	c.
	48 juice boxes

	b.
	12 juice boxes
	d.
	240 juice boxes




____	35.	Determine whether the events are independent or dependent.
Each player on the soccer team can choose a jersey from the team jersey set, and each jersey contains a different two-digit number from 10 to 99. Chris chooses 32, and then Pat chooses 77.
	a.
	independent
	b.
	dependent




____	36.	170% of 54 equals
	a.
	91.8
	d.
	3.15

	b.
	918
	e.
	None correct

	c.
	9.18




____	37.	For what value of x is [image: ] undefined?
	a.
	–4
	c.
	2

	b.
	–3
	d.
	–8




____	38.	Simplify [image: ].
	a.
	–70
	c.
	–114,333

	b.
	–700
	d.
	undefined




____	39.	What is the equation of the line?
[image: ]
	a.
	[image: ]
	c.
	[image: ]

	b.
	[image: ]
	d.
	[image: ]




____	40.	Find the slope of the line that contains [image: ] and [image: ].
	a.
	[image: ]
	c.
	[image: ]

	b.
	[image: ]
	d.
	[image: ]




Numeric Response

Solve.

	41.	Simplify [image: ].

	42.	Evaluate the expression for the given values of the variables.
[image: ] for x = 3, y = –5, and z = –2

	43.	What is the value of n in [image: ]?

	44.	What is the value of x when [image: ]?

	45.	What is the x-intercept on the graph?
[image: ]

	46.	The area of a square rug is 144 square feet. What is the side length, in feet, of the rug?

Problem

	47.	Order the numbers below from least to greatest.
[image: ], 0.79, [image: ], –0.7

	48.	Simplify [image: ]. Justify each step.

	49.	Eli has 9 equally sized slips of paper. He writes a number on each, so that the slips of paper are labeled 1 through 9. He places all 9 slips in a hat.
a.	What is the sample space when randomly choosing a slip of paper from the hat?
b.	What is the probability of randomly drawing a number greater than 7?
c.	Eli is trying to draw a number greater than 7. He draws a 4 and puts it back into the hat. He then draws a 2 and puts it back in the hat. What is the probability that he draws a number greater than 7 on his next try? Why?
d.	Is there a greater chance of drawing an even number or drawing a number less than 5? Justify your answer.

	50.	In a survey, participants were asked to choose their favorite of 4 cereals. Health Grain Cereal Company made the graph below to display the results of the survey.
[image: ]
a.	Explain why the graph may be misleading.
b.	What conclusion might be made from the graph? Why might Health Grain have created this graph?
c.	Make a graph of the survey data that is not misleading.
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	[image: ]
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